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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 576 71.96 | #nst | 000 ~ 576\ 1.81 9.68 zhLst 1.00 | 6.00 ~ 6.50 71.96 | =nLS | .00 ~ 6.50| 1.81 9.68
2 100kN/m##8%z% | 1.00 | 000 ~ 0.75| 111.21 |3m%x#Bz%| — ~ — — — | 100kN/m%#82% | 1.00 | 1095 ~ 1348 111.21 |3m%E#BZ% - ~ — — —
zhLst 1001075 ~ 864 100.00 | #npst | 000 ~ 854 | 2.06 11.00 zhLst 1.00 ] 56,00 ~ 1095 100.00| FnLS | 5,00 ~ 1348 2.06 11.00
3 100kN/m##8%z% | 1.00 | 000 ~ 1.25| 11896 |3mEBz%| — ~ — — — | 100kN/m%#82% | 1.00 | 10566 ~ 14.48| 11896 |3m%E#BZ% - ~ — — —
zhLst 100|125 ~ 904 100.00 | #nhst | 000 ~ 9.04| 223 11.93 zhLst 1.00 ] 56,00 ~ 1056 100.00| FnLS | 5,00 ~ 1448 2.23 11.93
p 100kN/m%#8%z% | 1.00 | 000 ~ 1.68| 125.79 |3m%xBZ%| — ~ — — — | 100kN/m%#z25 | 1.00 | 1061 ~ 1688 125.79 |3m&x#z3 - ~ — — —
zhLst 100|168 ~ 947 100.00 | Fhs | 000 ~ 947 | 2.31 12.35 zhLst 1.00 | 5.00 ~ 1061 100.00 | #nst | 6.00 ~ 1688 2.31 12.35
5 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 0.00 ~ 6.64 83.75 | =nLs | 000 ~ 0.00) 1.62 8.68 Zhst 1.00 | 5.00 ~ 842 83.75 | #nst | .00 ~ 842 | 1.62 8.68
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0.00 ~ 4.44 55.38 | =L | 000 ~ 444 1.94 10.59 Zhst 1.00 | 5.00 ~ 5.00 55.38 | #nst | 500 ~ 5.00| 1.94 10.39
100kN/ Mm% Z 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBZD ~
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100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ Zzhusn ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
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